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Note on Solution of a Linear Equations Ax = b
Zhang ZhengrongE¥an Tao
£7College of Mathematics and Computer ScienceENanjing Normal UniversityENanjingE210097ERRCEO

AbstractEfh this paperfwe consider the minimal norm solution and the least squares solution of a linear equations Ax = b~
where b 20 is fixedEwhich is ignored in the books on generalized inverses of matrices. In this caseEwe give the general form

of a matrix G such that x = Gb is m.n.and 1.s. solutions of Ax = bErespectively.

Key words£fhinimal norm solutionfleast squares solutionEminimal morm least squares solution

£00BET+ali-£R1+pDAEY

ia 24 ia



